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Siméon Denis Poisson
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#AFE UCI Machine Learning Repository (http:/archive.ics.uci.edu/ml) CStudent Performance Data
SetELTHRPTHAHoO—FAHE, 888 P. Cortez and A. Silva. Using Data Mining to Predict
Secondary School Student Performance. Proc. FUBUTEC 2008, 5-12
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Histogram of Data$absences
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Data = read.csv("student-por.csv",header=T)
pois =
glm(absences~famrel+famsize+Medu+Fedu+M
job+Fjob+studytime+freetime+health, family =
poisson, data=Data)

summary(pois)
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Estimate  Std.Error  tvalue Pr(>|t])

EEff) (BHERRE) (Uil (pfiE)

1K (by) 2.193 0.142 15.444 0.000%*
ZIHLOBIRE (b)) -0.115 0.021 -5.558 0.000%**
FIEDONEL (by) 0.012 0.045 0.265 0.791
BEBLZRHE (by) 0.006 0.028 0.209 0.834
RBUFIE (by) 0.098 0.026 3.783 0.000%**
BNV T (bs) -0.601 0.121 -4.991 0.000%
REERZ DA (be) 0.074 0.058 1.286 0.199
BHgH RV —E X (b,) 0.207 0.069 3.017 0.003 %
REEREBOR (bg) -0.173 0.098 -1.763 0.078.
REENIVAAT (bo) -0.185 0.149 -1.241 0.215
RIERZ DA (byo) -0.142 0.079 -1.794 0.073.
REgTH RS —E X (by1) -0.278 0.086 -3.244 0.001 #*
RSB (by2) -0.404 0.126 -3.196 0.001 **
TRRIERY (by5) -0.208 0.027 -7.826 0.000%+*
HGER% B ERBERT (b1y) -0.018 0.020 -0.943 0.346
{RFRIREE (o) -0.026 0.014 -1.826 0.068.
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Estimate Pr(>|t])

(HERE fiF) (pfi)
HIELOBIFRYE (by) -0.115  exp(h,) = 0.89 0.000%+*
RBUARE (by) 0.098 exp(h,) = 1.10 0.000%+*
BRANIVAT T (bs) -0.601 exp(bs) = 0.55 0.000%+*
RHEE T R —E R (b,) 0.207 exp(bg) = 1.23 0.003*+
R RS —E R (byy) -0.278 exp(by;) = 0.76 0.001 #*
RUSEEE (b15) -0.404 exp(b,;) = 0.67 0.001 **
ShRRINERE (by3) -0.208 exp(by3) = 0.81 0.000%**
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u; = n;exp(a + bx;),
log(u;) = log(n;) + a + bx;
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pois = glm(y~x, family = poisson, data=Data, offset = log(“#4 7ty L 4&"))
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